Freshersnow PO mockt test

Reasoning

Puzzle

Direction (1 to 4) :Study the information
carefully and answer the questions given
below.

Ten boxes are arranged in two stacks from bottom
to top numbered as 1-5. Each stack contains 5
boxes. Stack A is in the west of Stack B.

No box is placed below the box D. Box J is placed
two boxes above Box D but not in the same stack.
Box H is in the east of box G, which is placed
below the box J. Box A is placed two places above
the box H, but in the same stack. The number of
boxes below A is one less the number of boxes
above box B. Both boxes A and B are not in the
same stack. Box C is in the east of box F and
placed just above the box E. Box K is placed in the
south-east of the box F.

Direction (1 to 4) :
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Note: The number of boxes between X and Y is
2 it means both the boxes are placed in the
same stack.

AT X 3R Y pedd o G 2

ssudIsefdhaidaauds ReBHIETG |

%c
%c

D

db

)

) .8.) .8.) .8.)

1) How many boxes are placed between the box A
and Box K (in the same stack)?

1) a"]a&tr A 3?|<®|Tor{+ K (kohs‘]édoﬁ')

HediPdIaRIRTITG?

a)None

PIETR!

b)Three
GIE!



c)Two

al

d)One
U

e)Can’t be determined
ﬁfﬂll%d"lslld?mv”{-ld)dl

Solution:From the given statements, no box is
placed below the box D. Here we get 2 possible
cases- Case 1 and Case 2. Box J is placed two
boxes above Box D but not in the same stack. Box
H is in the east of box G, which is placed below
the box J.

Casel

Case 2

Stack A

Stack B

Stack A

Stack B
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Box A is placed two places above the box H, but in
the same stack. The number of boxes below A is
one less the number of boxes above box B. Both
boxes A and B are not in the same stack. From

this condition case-1 will be eliminated.

Case 2
Stack A Stack B

A
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H
B D




Box C is in the east of box F and placed just above
the box E. Box K is placed in the south-east of the

box F. The final arrangement is-

Stack A Stack B
F
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2) Which of the following statement is true?

B INITCR R CART IE B e Fs

l, Box E |s placed in the north-east of Box K

SN E, S K H3tR-JarxdTeg

II. Box B is in the west of Box D
g B, 91d9 D HUHHg

III Box J |s placed below the box G
®IIOR-I J, ®IIOR-I G OIO'-IId{{?II‘IqIG

a)Both Il and IlI

11 3R 11 Sl

b)Only I
Had Il

c)Both I and Il

| 3R 11 S



d)Oonly 1i
&Had |l

e)None is true

CARMY R rIE I

Solution:From the given statements, no box is
placed below the box D. Here we get 2 possible
cases- Case 1 and Case 2. Box J is placed two
boxes above Box D but not in the same stack. Box
H is in the east of box G, which is placed below
the box J.

Case 1

Case 2

Stack A

Stack B

Stack A

Stack B
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Box A is placed two places above the box H, but in
the same stack. The number of boxes below A is
one less the number of boxes above box B. Both
boxes A and B are not in the same stack. From
this condition case-1 will be eliminated.

Case 2
Stack A Stack B

A

I
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Box C is in the east of box F and placed just above

the box E. Box K is placed in the south-east of the




box F. The final arrangement is-

Stack A Stack B
F
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3) Four of the following five are alike in a certain
way and so form a group. Find the one who does
not belong to that group?

W@Wﬁmﬁr@awwwwsaﬁm
TUHIHREIE ITeTaam oS qaHg s fidTala ?

a)C

b)K

c)D

d)H

e)G
Solution:From the given statements, no box is
placed below the box D. Here we get 2 possible
cases- Case 1 and Case 2. Box J is placed two
boxes above Box D but not in the same stack. Box

H is in the east of box G, which is placed below
the box J.



Casel

Case 2

Stack A

Stack B

Stack A

Stack B
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Box A is placed two places above the box H, but in
the same stack. The number of boxes below A is
one less the number of boxes above box B. Both
boxes A and B are not in the same stack. From

this condition case-1 will be eliminated.

Case 2
Stack A Stack B

A

]
G H
B D
Box C is in the east of box F and placed just above
the box E. Box K is placed in the south-east of the

box F. The final arrangement is-

Stack A Stack B
F
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4) The number of boxes placed between box E
and box B (in the same stack) is same as the

number of boxes placed between box  and box
?
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a)C and H

C 3R H

b)A and C

A3R C

c)Kand D

K 3R D

d)C and K
C 3R K

e)None of these
IHUDN IS5

Solution:From the given statements, no box is
placed below the box D. Here we get 2 possible
cases- Case 1 and Case 2. Box J is placed two
boxes above Box D but not in the same stack. Box
H is in the east of box G, which is placed below
the box J.

Casel
Stack A Stack B

Case 2
Stack A Stack B
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Box A is placed two places above the box H, but in




the same stack. The number of boxes below A is
one less the number of boxes above box B. Both
boxes A and B are not in the same stack. From

this condition case-1 will be eliminated.

Case 2
Stack A Stack B

A

|

G H
B D
Box C is in the east of box F and placed just above
the box E. Box K is placed in the south-east of the

box F. The final arrangement is-

Stack A Stack B
F
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Problems on Alphabets

5) If we form a meaningful word by the first,
second, fourth and eighth letter of the

word ‘TRAVELLING”, then which of the following
will be the first letter of the word thus formed. If
more than one word is formed mark Y as your
answer. If no meaningful word is formed, mark X
as your answer?

5) JfegHRIeG 'TRAVELLING' HUgd, TUY,
ﬁfﬁ@?&léd\?{&l{ﬂkd?ﬂ@ﬁmﬁ%




A AUDRIIRIC HIUS AT GRD AT TS TR I3
frpeecaTdad Y
HIMTATSTRE Iafeh sl leaTaiadlg, dl X
PHITATSTRS ?

a)X
b)R
c)Y
d)V

e)l
Solution : A)

Seating Arrangement

Direction (6-10) : Study the following
Information carefully and answer the questions
given below:

Eight persons B, D, F, G, K, M, N and O are sitting
In a row facing towards the north but not
necessarily in the same order. G sits 2nd from one
of the ends. One person sits between G and N. B
sits 4th to the left of O, who sits near to N. K sits
2nd to the right of F. The number of persons sit to
the left of M is one more than the persons sit to the
right of D. M does not sit near to F.



Direction (9 to 13)
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6) Who among the following is an immediate
neighbour of D?

6) MafafReda@®E D HIRGcdauSRig?

a)F

b)B
C)K

d)Either (a) or (c)
grdi (a) T (c)



e)Both (a) and (c)
&l (a) 3R (c)

Solution:

From the given statements, G sits 2nd from one of
the ends. Here, we get 2 possibilities i.e., Case 1
and Case 2. One person sits between G and N. B
sits 4th to the left of O, who sits near to N. K sits
2nd to the right of F.

Case 1

From the given statements, the number of persons
sit to the left of M is one more than the persons sit
to the right of D. Here Case 2 is ruled out now. M
does not sit near to F.

So, the final arrangement-
B G M NO F DK

7) Who among the following sits 3rd to the right of
M?
7) FEfRaqid® M M SRR 618 ?

a)D




b)F
C)B
d)G
e)K

Solution:

From the given statements, G sits 2nd from one of
the ends. Here, we get 2 possibilities i.e., Case 1
and Case 2. One person sits between G and N. B
sits 4th to the left of O, who sits near to N. K sits
2nd to the right of F.

Case 1

From the given statements, the number of persons
sit to the left of M is one more than the persons sit
to the right of D. Here Case 2 is ruled out now. M
does not sit near to F.

So, the final arrangement-
B G M NO F DK

8) Who among the following sits at one of the
extreme ends?



8) Fufifaaidm e RRasR?
a)F
b)O
c)B
d)M

e)None of these
NN N C o
QIHADN IS 1G]

Solution:

From the given statements, G sits 2nd from one of
the ends. Here, we get 2 possibilities i.e., Case 1
and Case 2. One person sits between G and N. B
sits 4th to the left of O, who sits near to N. K sits
2nd to the right of F.

Case 1

From the given statements, the number of persons
sit to the left of M is one more than the persons sit
to the right of D. Here Case 2 is ruled out now. M
does not sit near to F.



So, the final arrangement-
B G M NO F DK
N T T O

9) Four of the following five are alike in a certain
way and hence they form a group. Which one of
the following does not belong to that group?

a)G

b)D

C)N

dM

e)K
Solution:
From the given statements, G sits 2nd from one of
the ends. Here, we get 2 possiblilities i.e., Case 1
and Case 2. One person sits between G and N. B

sits 4th to the left of O, who sits near to N. K sits
2nd to the right of F.



From the given statements, the number of persons
sit to the left of M is one more than the persons sit
to the right of D. Here Case 2 is ruled out now. M
does not sit near to F.

So, the final arrangement-
B G M NOF DK

10) If all the persons are sitting in alphabetical
order from left to right from B, then find how many
persons remains at the same position (excluding
B)?

10) feaicaiad B eEGIauihAHeos,

dRITdep oI b G T IR dg (B
PIBISH)?

4

a)Four
dR

b)Five
LIE]



c)Seven
qid

d)None .
e)Six
B4

Solution:

From the given statements, G sits 2nd from one of
the ends. Here, we get 2 possibilities i.e., Case 1
and Case 2. One person sits between G and N. B
sits 4th to the left of O, who sits near to N. K sits
2nd to the right of F.

Case 1

From the given statements, the number of persons
sit to the left of M is one more than the persons sit
to the right of D. Here Case 2 is ruled out now. M
does not sit near to F.

So, the final arrangement-
B G M NO F DK




Inequality

Direction (11-14) :In these questions, a
relationship between different elements is
shown in the statements. The statements are
followed by two conclusions. Give answer

Direction (11-14) W%nﬁ

FYTAf TIPS RANTTR [HUTI b ]
eI Tep Y ewTeg ISR o

11) Statement: P<Q=G<D<E<F>M
Conclusion:

.M=Q

H.M<G

PYT. P<Q=G<D<E<F>M
fp:

.M=Q
.M <G

a)if only conclusion Il is true.

gfehaar-Tspy || IIg|

b)if only conclusion I is true.

gfehaar-spy | Idg |

c)if neither conclusion | nor Il is true.

gfeaaisey | 38! 1| gds |



d)if either conclusion | or Il is true.

gfeardifasey | a7 11 9B |

e)if both conclusions | and Il are true.

gfef sy | 3R 1| SHIag |

Solution:l. M =2 Q(False)
Il. M <G(False)

12) Statement: M=2K>A>S=H>D>B
Conclusion:

.A>B

II.K <D

PYT- M=2K>A>S=H>D>B
frep:
.A>B
II.K<D

a)if both conclusion | and Il are true.

gfef ey | 3R 1| SR |

b)if only conclusion I is true.

gfehaa-spy | Idg |

c)if neither conclusion | nor Il is true.

gfeaaisey | 38! 1| gg |




d)if either conclusion | or Il is true.

gfegraifssy | a1 11 98 |

e)if only conclusion Il is true.

gfehad-sny || g |

Solution:l. A>B(True)
Il. K<D (False)

13) Statement: AZK;N<T,M2N; K=2T
Conclusion:

. K=N

Il. A>M

PYT AZK:N<T:M2N:K=2T
frp:
. K=N
1. A>M

a)if only conclusion Il is true.

gfepad-sny || g |

b)if either conclusion | or Il is true.

gfegraifssy | a1 1| 98 |

c)if neither conclusion | nor Il is true.

gfeaasey | 38! 1| gs |



d)if only conclusion I is true.

gfepaa-spy | Idg |

e)if both conclusions | and Il are true.

gfef sy | 3R 1| SHIag |

Solution:l. K=N(False)
Il. A>M (False)

14) Statement: J>T; R<N; T>R;N<M
Conclusion:

.R<M
11.J>M
PYT: J>T,RSN; T>R;N< M
s
.R<M
11.J>M
a)if only conclusion Il is true.
gfehad-Tny || g |
b)if only conclusion I is true.
gfehad-Tny | Ids |

c)if neither conclusion | nor Il is true.

gfeaaisey | 38! 1| gg |



d)if either conclusion | or Il is true.

gfeardifasey | a7 11 9B |

e)if both conclusions | and Il are true.

gfef sy | 3R 1| SHIag |

Solution:l. R<M(True)
Il. I>M(False)

Problems on Alphabets

15) How many pairs of letters are there in the
word “TRANSPARENCY” each of which have as
many letters between them (both forward and
backward directions) in the word as they have
between them in the English alphabetical series?

20) s “TRANSPARENCY” H ,
REER PR EIERGERENE
CHEECIEMEIFIEIE)
EEERECEIECYSIENEINIE NI EIG R

a)Three

d

b)None

PIETR!




c)One
U

d)Two

al

e)More than Three

GIERKIRC

Solution:

I|—|I_I|

TRANSPARENCY
| —

Puzzle

Direction(16-20):Study the following information
carefully and answer the questions given below.

Eight persons—A, B, C, D, E, F, G, and H were born in
different months i.e January, March, April, June,
September, October, November and December of the
same year but not necessarily in the same order. Three
persons were born between B and G and both were
born in the month which has 31 days. A was born just
after G. The number of persons were born between A
and B is same as the number of persons were born
between D and H. D was born just before B. E was born



before F and after C.

Direction(16-20): 110000 DOO0O00 D
HHOOHOOHHOO DoUood ooy 0o Hodd ood o
HHOOHOOH o UOodUL ooon

HoHoooorooEe- A, B8, C, D, E, F, G, HIETH DO EREE
N v I
HHO0H, Hoddon, Uon, boooon, boUooon, oooo
LU OHHO0H o0 Doy 0o, D0oHUn boood Dood o

OO0 OOO0 OO0 OHo0 B UH G U0 KO0 Hod
HHOOHOOHOD OO DOO0 OO0 U0 U000 U0 Uood 0o

L0000 OO0 DO, 00000 31 000 0000 0000 A U0
L0000 6 OU OO U0 Uod boo A U0 B UH UOH OHod

HHOH DHOH DoHoOooHod DU DUUoOD b U0 H O
HUD HHOL oot Doy boooooooonD UL booodn

LU U0 0Hoo b U0 Uodo B HH HoH Doy DU DHO E
L0 HOO0O F OO0 0000 00 € Od 000 Do Hod

16)Who among the following person was born in the

month of October?
1 o) UDHLHHOHOH UOH DO U0 DHoUDUn 00 Hodn

HOO000O0 DO 00000 OO0 000 Oa?

1. A



2.B

3.H

4.D

5. None of these
L0 D0 D00 Doo

Solution:From the given statements, three persons
were born between B and G and both were born in the
month which has 31 days. Here we have two
possibilities i.e., Case 1 and Case 2. A was born just

after G.
Month Case Case 2
1
Persons | Persons
January
March G B
April A
June
September
October B G
November A
December

The number of persons were born between A and B is
same as the number of persons were born between D
and H. D was born just before B. Here Case 2 is ruled
out now.



Month Case
1
Persons

January

March G

April A

June

September | D

October B

November

December | H

E was born before F and after C. So, the final
arrangement is-

Month Persons
January
March
April
June
September
October
November
December

o™ WD e |2 | 0

17)How many persons were born between C and E?
17)C 00 E U0 000 ODOOO0O DO00O000000 00 bood
CEE?

1. None
IO CICIe]



2. One
L]

3. Three

HnN

4. Two
L]

5. More than thee
COI0) OIE) D0

Solution:From the given statements, three persons
were born between B and G and both were born in the
month which has 31 days. Here we have two
possibilities i.e., Case 1 and Case 2. A was born just

after G.

Month

Case
1

Case 2

Persons

Persons

January

March

G

B

April

A

June

September

October

G

November

A

December

The number of persons were born between A and B is
same as the number of persons were born between D




and H. D was born just before B. Here Case 2 is ruled

out now.

Month Case
1
Persons

January

March G

April A

June

September | D

October B

November

December | H

E was born before F and after C. So, the final
arrangement is-

Month Persons
January C

March
April

June
September
October
November
December

jufl fes o R [ g o

18)Which of the following is true, as per the given
information?

18) UL L DUUHHHD D JOOOUL, JOOHoooHoE
OO0 00 000 00 bO0d O0?



1. Four persons were born between G and B
G U B U UUO U0 LOOOOOooon Lo booo bod

2. No one was born after H
H U0 DO0 000 OO 0000 0000 Ood

3. F was born just before A
F OO DOOO A U0 OO0 DoUd 0o

4. C was born in the month which has 30 days
C U DOoD 30 UUUUL U0 UUUUy oy gdd

5. All are true

Solution:From the given statements, three persons
were born between B and G and both were born in the
month which has 31 days. Here we have two
possibilities i.e., Case 1 and Case 2. A was born just
after G.



Month Case Case 2
1
Persons | Persons
January
March G B
April A
June
September
October B G
November A
December

The number of persons were born between A and B is
same as the number of persons were born between D
and H. D was born just before B. Here Case 2 is ruled

out now.

Month Case
1
Persons

January

March G

April A

June

September | D

October B

November

December | H

E was born before F and after C. So, the final
arrangement is-

Month Persons
January C

March G
April A
June E
September | D
October B
November | F
December | H




19)Four of the following five are alike in a certain way
and hence they form a group. Which one of the

following does not belong to that group?

19) UUUOOHDOUOUO Loot U0 UL o0 U0 Uoooood
LU0 U0 OOUO OO0 U0 00D U0 O 0000 0UO0d
OO0 DOOLOOUULL 00D U0 Lo 00 U0 Dood Do

HOOO000 Doo0 tee?

1.B

2. H

3.C

4.F

5.G

Solution:From the given statements, three persons
were born between B and G and both were born in the
month which has 31 days. Here we have two
possibilities i.e., Case 1 and Case 2. A was born just
after G.



Month Case Case 2
1
Persons | Persons
January
March G B
April A
June
September
October B G
November A
December

The number of persons were born between A and B is
same as the number of persons were born between D
and H. D was born just before B. Here Case 2 is ruled

out now.

Month Case
1
Persons

January

March G

April A

June

September | D

October B

November

December | H

E was born before F and after C. So, the final
arrangement is-

Month Persons
January C

March G
April A
June E
September | D
October B
November | F
December | H




20)Who among the following person was born just
before C?

20) ODDUOOUOD DO 00U Doo DUO0UOD DO 0000 C
D0 000 0000 0Ood oo?

1.G

2. E

3.F

4. H

5. No one
O] Do

Solution:From the given statements, three persons
were born between B and G and both were born in the
month which has 31 days. Here we have two
possibilities i.e., Case 1 and Case 2. A was born just
after G.



Month Case Case 2
1
Persons | Persons
January
March G B
April A
June
September
October B G
November A
December

The number of persons were born between A and B is
same as the number of persons were born between D
and H. D was born just before B. Here Case 2 is ruled

out now.

Month Case
1
Persons

January

March G

April A

June

September | D

October B

November

December | H

E was born before F and after C. So, the final
arrangement is-

Month Persons
January C

March G
April A
June E
September | D
October B
November | F
December | H




Seating Arrangement

Direction (21 to 25) : Study the following
Information carefully and answer the questions
given below:

Eight friends are sitting around a square table in
such a way that four of them sit at four corners of
the square and face inside while four sit at the
middle of each of the four sides and face outside.
Each of them works on different dates of the same
month, viz. 5, 11, 13, 15, 18, 21, 26 and 29 but not
necessarily in the same order.

B sits third to the right of the one who works on 29.
B works on an even date. C works on 26 and sits
opposite to A. C sits immediate right to the one
who works on date 29. A doesn't sit at the corner.
H sits opposite to F and the sum of the dates on
which they are working is 26. Only two persons sit
between F and G who works on date 11. C is an
Immediate neighbor of both E and the one who
works on 21. The difference between the dates on
which C and A works are 11. D sits opposite to E.
Direction (21 to 25)

ARG a & 3P O S{RATD G TTEY
b ITRAIR |

31IC5IJ-I?IKOI‘>01‘IIObIU-IUIObdRI&R%HHOMQ@IOGIOI‘JG"IJ}I.\

W%ﬁﬁ?ﬁuﬁ%%@l?&mﬁawﬂ@smﬁo




ARYSIH AT IH HHEH IS 6 HRATERP 1RSI
ISTHAYADB U s [He b A e A IR b RIhRdTg,
3{241%5 11, 13, 15, 18, 21, 26 31X 29
AfpToR= g igdIshHAE! |
Bmm@mwmmsw 29
HIHIHAE | B GHARIRSG™ASBIAIR | C, 26
HIHIBIAR IR A BIARIdasdg| C, 29

ol IprRieaisdlbeRidaR | A
HIIRTelaTe | H, F

C G RE RN R R RIRE AR C AR R C AL
26 81 F 3R G hagdbadediaddas, siiafd 11
Oh\IOqurOchII%I C,E G?IT 21

HIBTIBIAIC BB cards g | C 3R A

PP D AT hdgdI3ar 11 21 D, E
CAC NG

21) Who sits opposite to the one who works on
date 117?

Y (o Y A0 m W W\
21) fafd 11 HIBRBIAACDB AR IdD 6318 ?

a)The one who works on date 18

JesifdfY 18 HldpdhIdle

b)C

C)A



d)D
e)G

Solution:From the condition, A doesn’t sit at the
corner. C works on 26 and sits opposite to A. C
sits immediate right to the one who works on 29. B
works on an even date, which means B works on
18. B sits third to the right of the one who works on
29. C is an immediate neighbour of both E and the

one who works on 21, so E works on 29.
C-26

2
2 o 29
B-184+ -1
) S
A

The difference between the dates on which C and
A works is 11, hence A works on 15 this is the only
possibility. H sits opposite to F, so either F or H
can work on 21 but from the condition, only two
persons sit between F and G who works on 11, it
will be fixed that F works on 21. The Sum of the
dates on which F and H are working is 26, hence
H works on 5 and D works on 13. We will get the



final solution.
C-26

F-2 )
1\,y 2 o E-29
B-184} T¥G-11
|
b 13/1 np 1.5
] A-15

22) The one who works on date 18
Y e N\ = =
22) H b QIR TTUI D [dSIe?

a)A

b)E

C)F

d)D

e)B
Solution:From the condition, A doesn’t sit at the
corner. C works on 26 and sits opposite to A. C
sits immediate right to the one who works on 29. B
works on an even date, which means B works on

18. B sits third to the right of the one who works on
29. C is an immediate neighbour of both E and the



one who works on 21, so E works on 29.

) C-26
| o E-29
B-1844- -1
P ' =
T
A

The difference between the dates on which C and
A works is 11, hence A works on 15 this is the only
possibility. H sits opposite to F, so either F or H
can work on 21 but from the condition, only two
persons sit between F and G who works on 11, it
will be fixed that F works on 21. The Sum of the
dates on which F and H are working is 26, hence
H works on 5 and D works on 13. We will get the

final solution.
F-2 €26
1\,y | o E-29
B-184+ TG-11
|
b 13/1 r i
- A-15

23) If A and H interchange their positions, then
who sits to the immediate right of A?

23) Ifg A 3R H ATRIM3MIIHSeaddg, dl A

T ETARCARE LI,




a)F
b)E
c)D
d)C
e)G

Solution:From the condition, A doesn’t sit at the
corner. C works on 26 and sits opposite to A. C
sits immediate right to the one who works on 29. B
works on an even date, which means B works on
18. B sits third to the right of the one who works on
29. C is an immediate neighbour of both E and the

one who works on 21, so E works on 29.
C-26

2
2 o E-29
B-184+ -1
P { &
A

The difference between the dates on which C and
A works is 11, hence A works on 15 this is the only
possibility. H sits opposite to F, so either F or H
can work on 21 but from the condition, only two
persons sit between F and G who works on 11, it
will be fixed that F works on 21. The Sum of the



dates on which F and H are working is 26, hence
H works on 5 and D works on 13. We will get the

final solution.
C-26

F-2 )
1\,& + o E-29
B-184} —T6-11
|
b 13/1 NP i
i A-15

24) Four of the following five are alike in a certain
way and so form a group. Find the one which does
not belong to that group?

24)
R TR TS TR IO g AR
R B S IR B RIS LIS SRR R RS CIRRR

87

a)G

b)B
C)A
d)F

e)C



Solution:From the condition, A doesn’t sit at the
corner. C works on 26 and sits opposite to A. C
sits immediate right to the one who works on 29. B
works on an even date, which means B works on
18. B sits third to the right of the one who works on
29. C is an immediate neighbour of both E and the
one who works on 21, so E works on 29.

) C:26
| o E-29
B-184+ T
Vs ' =
T
A

The difference between the dates on which C and
A works is 11, hence A works on 15 this is the only
possibility. H sits opposite to F, so either F or H
can work on 21 but from the condition, only two
persons sit between F and G who works on 11, it
will be fixed that F works on 21. The Sum of the
dates on which F and H are working is 26, hence
H works on 5 and D works on 13. We will get the

final solution.
¥-2 G20 E-29
l\'y | g
B-1844 —T¥G-11

A us
A-



25) How many persons sit beiwgen H and F?
25) H 3R F »HBaIeaadda?

a)One

U

b)Two

al

c)Three

d

d)Four
dR

e)Five
LIE]

Solution:From the condition, A doesn't sit at the
corner. C works on 26 and sits opposite to A. C
sits immediate right to the one who works on 29. B
works on an even date, which means B works on
18. B sits third to the right of the one who works on
29. C is an immediate neighbour of both E and the
one who works on 21, so E works on 29.



B-184+ -1

e
A
The difference between the dates on which C and
A works is 11, hence A works on 15 this is the only
possibility. H sits opposite to F, so either F or H
can work on 21 but from the condition, only two
persons sit between F and G who works on 11, it
will be fixed that F works on 21. The Sum of the
dates on which F and H are working is 26, hence

H works on 5 and D works on 13. We will get the

final solution.
C-26

F-2 .
Ky 2 o E-29
B-1844 TG-11
|
e s
] A-15

Coding & Decoding

Direction (26-30): Study the following information
carefully and answer the following question.



The following words are coded in this manner:

‘Gum to stick’ is coded as ‘la ka pa’

‘Fat gum gets’ is coded as ‘vt bt pa’

‘Little man fat plan’ is coded as ‘sm bt da sg’
‘Stick to the plan’ is coded as ‘ka sa la da’

DO00000 (26-30): IDD0000000 0000000 OO
LHHHODHHOOL Dooooy oo Don oo o
HHOHOHUL HH Doooo toe:

HHHHOOHOOL Doodoy U Dy boooon doodoon
HHU0 too te:

‘Gum to stick’ ] ‘la ka pa’ U0 D00 D00 DOO0000
LOHE oo G

‘Fat gum gets’ [ ‘vt bt pa’ [0 D00 D00 CO00000
Lo UUH Ol

‘Little man fat plan’ L] ‘sm bt da sg’ 0C OO0 D00
HoOoooL UUUH UG D

‘Stick to the plan’ (1] ‘ka sa la da’ (1] D000 L0
LHOOOHL OUO0 Uon O

26)What is the code for ‘Stick’?

a)La
b)Pa
c)Ka



d)Sa
e)Cannot be determined

26)'Stick’ 00 D00 OO0 D000 Oo?

a)La
b)Pa
c)Ka
d)Sa
e)JIJ0000000 0000 0000 00 0000 0O
Solution:
Word Code
Gum Pa
To La/ka
Stick La/ka
Fat Bt
Gets Vt
Little Sm/sg
Man Sm/sg
Plan Da
The Sa

Hence, the code for ‘Stick’ is either ‘la’ or ‘ka’.

27)What is the code for ‘Little man to stick’?
a)pa la ka sg
b)ka la vt da
c)la ka sm sg



d)da ka sm sg
e)Cannot be determined

27)'Little man to stick’ [ D00 OO0 OO0 CH?
a)pa la ka sg
b)ka la vt da
c)la ka sm sg
d)da ka sm sg
e)JIJ0000000 0000 0000 00 0000 0O

Solution:
Word Code
Gum Pa
To La/ka
Stick La/ka
Fat Bt
Gets Vt
Little Sm/sg
Man Sm/sg
Plan Da
The Sa

Hence, the code for ‘Little man to stick’ is ‘la ka sm

sg’.

28)Which word is coded as ‘da vt'?
a)Gum gets



b)Fat gets

c)Fat plan

d)Plan gets

e)Cannot be determined

28)
D00 D000 00 ‘'da vt’ 00 000 000 D000000 0000
D000 00?

a)Gum gets

b)Fat gets

c)Fat plan

d)Plan gets

e)JIJ0I000000 0000 0000 00 0000 0O

Solution:

Word Code

Gum Pa
To La/ka

Stick La/ka
Fat Bt

Gets Vt

Little Sm/sg

Man Sm/sg
Plan Da
The Sa

Hence, ‘plan gets’ is coded as ‘da vt'.



29)If ‘Stick can’ is coded as ‘ka dm’ then what is
the code for ‘fat to can’?

a)ka sata

b)Da bt dm

c)Vt bt ka

d)Bt la dm

e)Cannot be determined

29)00 “Stick can’ 0 ‘ka dm’ 00 00 OO0
000000 0000 D00 00 00 fat to can’ D0 OO0 DO
D000 0o?

a)ka sa ta

b)Da bt dm

c)Vt bt ka

d)Bt la dm

e)JIJ0I0I00000 0000 0000 00 0000 0O

Solution:



Word Code

Gum Pa
To La/ka

Stick La/ka
Fat Bt

Gets Vt

Little Sm/sg

Man Sm/sg
Plan Da
The Sa

Hence, the code for ‘fat to can’ is ‘bt la dm’.

30)Which word is coded as ‘da vt sg'?
a)Plan man gets
b)Gets plan Little
c)little plan Fat
d)Fat plan gets
e)Cannot be determined

30)00 D000 D0 ‘'da vt sg’ L) DOE D0
DO00000 0000 000 0O?

a)Plan man gets

b)Gets plan Little

c)little plan Fat

d)Fat plan gets

e)J00000000 0000 0000 00 0000 04



Solution:

Word Code
Gum Pa
To La/ka
Stick La/ka
Fat Bt
Gets Vt
Little Sm/sg
Man Sm/sg
Plan Da
The Sa

Hence, the word for the code is either ‘plan gets
little’ or ‘plan gets man’

Puzzles

Direction (31 to 35): Study the following
iInformation carefully to answer the given
guestions:

Twelve persons are appearing for an exam on
16th and 27th of the six different months of the
same year viz. January, February, April, May,
October and November.

R has exam on an odd date. Six persons give
exams between R and F. Three persons give
exams between H and F. R does not give his
exam in February. No one gives exam after M. S



and N have exams in the same month but not in
the month which has 30 days. S and R have
exams on different dates. N does not give exam
after H. G give exam immediately after W and in
the month which has 30 days. Only four persons
give exam between G and P, who has exam after
R. T has exam before V and both give exams on
the same date. U and R has exam on different
dates.

Direction (31 to 35):

%@Tl;f;r%nobdm&%bl“ SMUBEINISCREISEAREALIB ]

dmsomordkobslqu'ao@sacw|-&|F|1mé1=|“f3{u7d\ﬂ«|q€|,
HRaR], 3Ud, A%, AHTeaRRAGIRD] 16 3R 27
fafP TRl aTh IS uRIde R |

R pIglfavafafieis Issafdd R 3R F
FparauRteneds Id-aafad H 3R F pausiadds |
R BRaHuergidde | m
FaGHIsHUalgdle | S 3R N

CAlC A R R I N RN R R B B E IR
30 feTgldg | S 3R R HIUT&TT3IA-
&Wﬁfﬁ?ﬂm%l N, H $acURlggledie | G, W

HSIPATEIR 30 %ﬂﬂ]ﬁﬂ%ﬁﬁﬁﬁ&ﬂ%ﬂ%l G 3R P,
g Iudien R Balcs,
P HITIRA RIS | T PIOKNET Vv

YU RGP e U IuRI&eds | U 3R R




DO T HT- AR |

31) How many persons have exam after V?
31)V d)dIdIObdﬂoqldrIQIOr)Iqil&ﬂ%?

a)Three

GIE|

b)Four
dR

c)Two

al

d)More than four
IR AP

e)None of these
IHUDN IS 1G]

Solution:R has exam on an odd date. Six persons
give exams between R and F. R does not give his
exam in February. Three persons give exams
between H and F. No one gives exam after M.
There are three possible cases.



Case-1 Case-2 Case-3
Date 16 27 16 27 16 27
Month
January R F
February F
April H H
May R H
October F 2§
November M M M

S and N have exams in the same month but not in
the month which has 30 days. S and R have
exams on different dates. N does not give exam
after H. G give exam immediately after W and in
the month which has 30 days. Only four persons
give exam between G and P, who has exam after
R. From this condition case-2 will be eliminated. T
has exam before V and both give exams on the
same date. U and R has exam on different dates.
From this condition case-1 will be eliminated and

the final arrangement is

Date | 16th | 27th
Month
January
February
April
May
October
November

“UI::[:E'T.IW
z|m|<|o|H|=

32) Which of the following pair of persons have
exam in February?

32) Fefafaddafeagme miammadite?



aW, M

b)P, M

C)H, V

dWw, G

e)F, T
Solution:R has exam on an odd date. Six persons
give exams between R and F. R does not give his
exam in February. Three persons give exams

between H and F. No one gives exam after M.
There are three possible cases.

Case-1 Case-2 Case-3
Date 16 27 16 27 16 27
Month
January R F
February F
April H H
May R H
October F R
November M M M

S and N have exams in the same month but not in
the month which has 30 days. S and R have
exams on different dates. N does not give exam
after H. G give exam immediately after W and in
the month which has 30 days. Only four persons
give exam between G and P, who has exam after
R. From this condition case-2 will be eliminated. T
has exam before V and both give exams on the
same date. U and R has exam on different dates.



From this condition case-1 will be eliminated and

the final arrangement is

Date | 16th | 27th
Month
January
February
April
May
October
November

"UI:IE'T.IW
z|m|<|o|H|=

33) Four of the following five are alike in a certain
way so form a group, which of the following does
not belong to that group?

ﬁqﬁf@ﬁqﬁlﬂ@ﬂwﬁr@dd I C R RS R B RS LG
JHgadg, FRRIaH e M3 g s Ua-g g2

a)F

b)W
c)U
d)S
e)T

Solution:R has exam on an odd date. Six persons
give exams between R and F. R does not give his



exam in February. Three persons give exams
between H and F. No one gives exam after M.

There are three possible cases.

Case-1 Case-2 Case-3
Date 16 27 16 27 16 27
Month
January R F
February F
April H H
May R H
October F R
November M M M

S and N have exams in the same month but not in
the month which has 30 days. S and R have
exams on different dates. N does not give exam
after H. G give exam immediately after W and in
the month which has 30 days. Only four persons
give exam between G and P, who has exam after
R. From this condition case-2 will be eliminated. T
has exam before V and both give exams on the
same date. U and R has exam on different dates.
From this condition case-1 will be eliminated and

the final arrangement is

Date | 16th | 27th
Month
January
February
April
May
October
November

ol m|s|m|e
z|m| <oz

34) Who among the following person appears for
exam immediate before N?



34) Fofafeadae N
H S IPUTAURI TS [TUSURIdRIdTg?

a)P

b)U
c)V
d)S

e)None of these
NN N C o
QITHXIDN L6

Solution:R has exam on an odd date. Six persons
give exams between R and F. R does not give his
exam in February. Three persons give exams
between H and F. No one gives exam after M.

There are three possible cases.

Case-1 Case-2 Case-3
Date 16 27 16 27 16 27
Month
January R F
February F
April H H
May R H
October F R
November M M M

S and N have exams in the same month but not in
the month which has 30 days. S and R have
exams on different dates. N does not give exam
after H. G give exam immediately after W and in




the month which has 30 days. Only four persons
give exam between G and P, who has exam after
R. From this condition case-2 will be eliminated. T
has exam before V and both give exams on the
same date. U and R has exam on different dates.
From this condition case-1 will be eliminated and

the final arrangement is

Date | 16th | 27th
Month
January
February
April
May
October
November

"UI:',I:E'T.IW
z|m|<|o|H|=

35) Who among the following has exam on 27th
May?
35) FafRaaHafbT® IRl 27 AEdie?

a)Vv

b)U

c)W

d)T



e)None of these
NN NC o
QIHN N6

Solution:R has exam on an odd date. Six persons
give exams between R and F. R does not give his
exam in February. Three persons give exams
between H and F. No one gives exam after M.

There are three possible cases.

Case-1 Case-2 Case-3
Date 16 27 16 27 16 27
Month
January R F
February F
April H H
May R H
October F R
November M M M

S and N have exams in the same month but not in
the month which has 30 days. S and R have
exams on different dates. N does not give exam
after H. G give exam immediately after W and in
the month which has 30 days. Only four persons
give exam between G and P, who has exam after
R. From this condition case-2 will be eliminated. T
has exam before V and both give exams on the
same date. U and R has exam on different dates.
From this condition case-1 will be eliminated and




the final arrangement is

Date | 16th | 27th
Month
January
February
April
May
October
November

vl |m|s|m|e
z|m| <1z

Puzzle

Direction(36-40):Study the following
iInformation carefully and answer the questions
given below:

Nine Personsi.e., S, A, R, M, K, B,C,Dand G
were born in nine different years i.e., 1972, 1985,
1987, 1990, 1994, 1996, 1998, 2000 and 2004 but
necessarily in the same order. Ages of all the
persons counted as on 2021.

R was born in the year 1990. Only one person was
born between R and B. No one was born between
B and A. K was born in the year 2000. There is a
difference of two years between the age of K and
S. D is elder than R but she is not the eldest. C is
the youngest person among all. There is a
difference of more than two years between the age
of M and G where M is elder than G who is
younger than D.

Direction(36-40): FafRad SH®RT &1 L-gd




3T HY AR A e T g & IR ¢
MRS, A R, M, K, B, C, D3R G BT oH
3ITT- 3T YT 3fUTd 1972, 1985, 1987, 1990,
1994, 1996, 1998, 2000 37X 2004 H G317 T, Tl

St & o o & H W 811t afaaal & sig &t
TUMT 2021 & TR H1 713 6|

R 1 S a8 1990 H 31T UTI R 3R B & dId dhdd
U fad ol oFH g3 UTI B 3R A & & foodil &t
ST 181 §3AT UTI K &1 S 98 2000 H 31T 4TI K
IRSHI AP A al gy BT 3R &I D, R A TSI &
dfdh 98 999 §o! Tl o | ¢ I+ H g BleT Afaq
g1 M 3R G &I 3 & &id &l 99 ¥ HTUH BT 3R §
SBIM, G FSTg ol D ¥ BleT g

36)How many persons were born after A?
36)A b TG foha- Al BT S g3iT?

1. Three
GG

2. Four
IR

3. More than Five

O g i



4. One
Udh

5. None of these

g0 I Pls Tal

Solution:

From the given statements- R was born in the year
1990. Only one person was born in between R and
B. K was born in the year 2000. There is the
difference of two years in between the age of K
and S. C is the youngest person among all.

Year Age Case 1l Case 2
Persons | Persons

1972 49

1985 36 B

1987 34

1990 31 R R

1994 27

1996 25 B

1998 23 3 5

2000 21 K K

2004 17 C C

D is elder than R but she is not the eldest. No one
was born in between B and A. There are one more
case in case-2, i.e case-2(a).

Year Age Casel Case 2 Case
2(a)
Persons | Persons | Persons
1972 49 A
1985 36 B D
1987 34 D D
1990 31 R R R
1994 27 A A
1996 25 B B
1998 23 s s s
2000 21 K K K
2004 17 C C C

There is the difference of more than two years in



between the age of M and G where M is elder than
G who is younger than D.. Here Case 1 and
case2(a) will be ruled out now. So, the final
arrangement is-

Year Age | Persons
1972 49
1985 36
1987 34
1990 31
1994 27
1996 25
1998 23
2000 21
2004 17

IR B =l ke

37)Four of the following five are alike in a certain
way and so form a group. Find the one who does
not belong to that group?

37)Fafafed o ¥ ¥ 9R te [igd e 9 909 §
3R TTITT TH GHg §1d & | T8 I B oIl I THE
¥ Tefda el 87

1. M

2. A

3.B

4.D



5.C

Solution:

From the given statements- R was born in the year
1990. Only one person was born in between R and
B. K was born in the year 2000. There is the
difference of two years in between the age of K
and S. C is the youngest person among all.

Year Age Casel Case 2
Persons | Persons

1972 49

1985 36 B

1987 34

1990 31 R R

1994 27

1996 25 B

1998 23 s s

2000 21 K K

2004 17 C C

D is elder than R but she is not the eldest. No one
was born in between B and A. There are one more
case in case-2, i.e case-2(a).

Year Age Casel Case 2 Case
2(a)
Persons | Persons | Persons
1972 49 A
1985 36 B D
1987 34 D D
1990 31 R R R
1994 27 A A
1996 25 B B
1998 23 S S S
2000 21 K K K
2004 17 C C C

There is the difference of more than two years in
between the age of M and G where M is elder than
G who is younger than D.. Here Case 1 and
case2(a) will be ruled out now. So, the final



arrangement is-

Year Age | Persons
1972 49

1985 36
1987 34
1990 31
1994 27
1996 25
1998 23
2000 21
2004 17

1A R =] ke

38)Who among the following is 8 years older than
S?

3g)FEfcRad A ¥ P S ¥ 8 a¥ §&1 87

1.G

2.D

3. M

4. A

5.R

Solution:

From the given statements- R was born in the year
1990. Only one person was born in between R and
B. K was born in the year 2000. There is the

difference of two years in between the age of K
and S. C is the youngest person among all.



Year Age Case 1l Case 2
Persons | Persons

1972 49

1985 36 B

1987 34

1990 31 R R

1994 27

1996 25 B

1998 23 3 S

2000 21 K K

2004 17 C C

D is elder than R but she is not the eldest. No one
was born in between B and A. There are one more

case in case-2, i.e case-2(a).

Year Age Casel Case 2 Case
2(a)
Persons | Persons | Persons
1972 49 A
1985 36 B D
1987 34 D D
1990 31 R R R
1994 27 A A
1996 25 B B
1998 23 s s s
2000 21 K K K
2004 17 C C C

There is the difference of more than two years in
between the age of M and G where M is elder than
G who is younger than D.. Here Case 1 and
case2(a) will be ruled out now. So, the final

arrangement is-

Year Age | Persons
1972 49 M
1985 36 D
1987 34 G
1990 31 R
1994 27 A
1994 25 B
1998 23 S
2000 21 K
2004 17 c




39)What is the sum of ages of B and S?
39)B 3R S I 3 HT IR T g2

1. 48 years

48 qY

2. 58 years

58 94

3. 44 years

44 qY

4. 65 years

65 a4

5. 54 years

54 94

Solution:

From the given statements- R was born in the year
1990. Only one person was born in between R and
B. K was born in the year 2000. There is the
difference of two years in between the age of K
and S. C is the youngest person among all.



Year Age Case 1l Case 2
Persons | Persons

1972 49

1985 36 B

1987 34

1990 31 R R

1994 27

1996 25 B

1998 23 3 S

2000 21 K K

2004 17 C C

D is elder than R but she is not the eldest. No one
was born in between B and A. There are one more

case in case-2, i.e case-2(a).

Year Age Casel Case 2 Case
2(a)
Persons | Persons | Persons
1972 49 A
1985 36 B D
1987 34 D D
1990 31 R R R
1994 27 A A
1996 25 B B
1998 23 s s s
2000 21 K K K
2004 17 C C C

There is the difference of more than two years in
between the age of M and G where M is elder than
G who is younger than D.. Here Case 1 and
case2(a) will be ruled out now. So, the final

arrangement is-

Year Age | Persons
1972 49 M
1985 36 D
1987 34 G
1990 31 R
1994 27 A
1994 25 B
1998 23 S
2000 21 K
2004 17 c




40)Who among the following was born in 19987

40)1%@%@?[ T 3 fobqenT ST 1998 T 31T UT?

1.G

2. A
3.D
4. C

5. None of these

g 7q I PIg A8l

Solution:

From the given statements- R was born in the year
1990. Only one person was born in between R and
B. K was born in the year 2000. There is the
difference of two years in between the age of K
and S. C is the youngest person among all.

Year Age Case 1l Case 2
Persons | Persons

1972 49
1985 36 B
1987 34
1990 31 R
1994 27
1995 25
1998 23 5
2000 21 K
2004 17 c

o

O || m




D is elder than R but she is not the eldest. No one
was born in between B and A. There are one more
case in case-2, i.e case-2(a).

Year Apge Casel Case 2 Case
Z2(a)
Persons | Persons | Persons
1972 49 A
1985 36 B D
1987 34 D D
1990 31 R R R
1994 27 A A
1996 25 B B
1998 23 S S S
2000 21 K K K
2004 17 C C C

There is the difference of more than two years in
between the age of M and G where M is elder than
G who is younger than D.. Here Case 1 and
case2(a) will be ruled out now. So, the final
arrangement is-

Year Age | Persons
1972 49 M
1985 36 D
1987 34 G
1990 31 R
1994 27 A
1996 25 B
1998 23 5
2000 21 K
2004 17 c

Numerical ability




Quadratic equations

Direction(41-45):In each of these questions,
two equations (l) and (ll) are given. Solve the
equations and mark the correct option:

Direction(41-45): 394 d Ud® UY H g IHIH0T
(1) 3R (11) few e &1 Fiievon &) ga sifere ek
gl faweu ! ffga s

41)

D2+ 10x+12=0
Iy + 10x +25=0

1.x>y
2.X2Yy
3. X<y

4.X<y

5. x = y or relation can’t be established/dT ®ig A& Y
RITUd a1 {1 S Jebl




Solution:

L2x*+10x+12=0
2% +6x+4x+12=0
(2x+4)(x+3)=0
x=-3,-2
II;y2+'lDy+25-=[l
yv° +5y +5y+25=0

(v+5)(y+5)=0
y=-5
.'.X::‘*}-"

42)

.x*-5x+6=0
Ly — 7y +6=0

3. X<y

4.X>y

5. x = y or relation can’t be established/dT ®ig Y'Y
RITUd a1 {1 ST Jebl




Solution:

Lx*-3x-2x+6=0
(x-3)(x-2)=0

x=32

Ly*— 6y—y+6=0
y—-1)(v—6)=0
v=1,6

~ relation can't be established

43)

. x2 = 625
Il.y =625

5. x = y or relation can’t be established/dT ®ig Y'Y
RITUd a1 {1 ST Jebl

Solution:
[.Lx=x25
II.y=+25
LXZY




44)
l. x2+23x+130=0
IL.y2+30y+224=0

1. x = y or relation can’t be established/dT ®ig &Y
YTfUd gt fHaT S ghd]

5. X>Yy

Solution:
I.x*+23x+130=0
®2+13x+10x+130=0
¥(x+13)+10(x+13)=0
(x+13)(x+10)=0
x=-13,-10
ILy>+30y+224=0
yi+16y+14y+224 =0
y(y+16)+14(v+16)=0
(v+16)(yv+14)=0
y=-16,-14

S0, X>=y

45)

x>+ 21x+108=0

I y* 4+ 24y + 143 =0



1. x = y or relation can’t be established/dT ®ig Y
YTfUd gl fHdT S gdhd]

5. x>y

Solution:

L.x*+21x+108=0
X2 +9x +12x +108=0
¥(x+9)+12(x+9)=0
(x+9)(x+12)=0
Xx=-9,-12

ILy> + 24y + 143 =0
yvi+11ly +13y +143=0
yiy+11) +13(y+11)=0
(v+13)(y+11)=0
y=-13,-11

So, no relation

Number system

Direction(46-50):What should come in place of
guestion mark (?) in the following questions?



Direction(46-50): fAHfRad usi § usdra® fog (?)
& RITF TR T 3T A8 T?

46)

53,51.4,48.2,41.8, ?, 3.4
1.31

2. 30

3. 29

4.29.4

5.29.6

Solution:

Pattern of series -

53 514 48.2 418 3.4

I | | I |
-16 -32 -64 -128 -256

47)
6,4, 5,11, ?, 189

1.39



2.45
3.34
4. 36
5.41

Solution:

Pattern of series -

T R R S &

1?‘)

xl-2 x2=3 x 3= k=5

48)
80, 68, 62, 56, ?, 29

1.43
2. 44
3. 45
4. 46

5. 47



Solution:

Pattern of series -

80 68 62 56 29
I i) 1 1 )
-12 -6 -6 -9 -18

| 1 1 i /|
0.5 x1 x1.5 2
49)
117, 140, 169, 200, ?, 278
1.235
2.237
3. 239
4. 241
5. 243
Solution:
Pattern of series -

1}? 1?[1 169 2{|m

??B

+23 +29 +31 +37 +41



50)
2,8, 14, 38 ,98 ,218

1.2
2.6
3.10
4.8
5.4

Solution:

Pattern of series -

sls 1|4 3|8 E?IE 2 Im
0 6 24 60 120

f f ! f f

| 252 33-3 43-4 53-8

Data Interpretation



Direction(51-55):Given below bar graph shows
total number of calls (in hundred) received by five
mobile network companies and table shows
percentage of calls received by female. Read the

data carefully and answer the questions.

=i f&ar 1 §R W Uid HiETgd Aedd Uil
GRT U Bid &1 Sl T (I H) fazarar g 8k
qTfcieeT Afgarsil gRT T $id &1 Wia=id =it 5|
ST H M I TS IR UL b IR < |

W Total calls

85

80

75

70
65
&0
55
50
45
40 ; : : -
A B C D E




Companies Percentage of calls received by
et females
HigdrEi g I ®id & Sidad

A 65%

B 48%

C 60%

D 70%

E 45%

51 )Find the sum of total calls received by male in
company A & D together and calls received by
female in company B & E together?

51 )Tt A 3R D ¥ e OB GRT U el Pl
3R HUAT B 3R E T fidme: afgd gR1 Uid &id

DT T JTd PIToTE?

1. 9900

2.10880

3.11260

4. 10650

5. 9580



Solution:

Total calls received by male in company A& D
= 6000 X — + 8400 X ——

100 100
=2100+ 2520

= 4620
Total calls received by female in company B & E

= 7500 X —= 4 5400 X —
100 100
- 6030

Required sum = 6030 + 4620
= 10650

52)Find difference between total calls received by
male in company C & E together and total calls
received by female in company D?

52)&6 0T C 3R E H fHddh: oW gRI U $d i
3R HYAT D H Al GRI WK d H1d P S 3HalR
AT HifTE?

1.40

2. 20

3.50

4. 30

5. 60



Total calls received by male in company C & E
= 7200 X — 4 5400 X —
100 100
= 5850
Total class received by female in company D

= 8400 X —=
100

= 5880
Solut|on * Required difference = 5880 - 5850 = 30

53)Find ratio between total calls received by
female in company A to total calls received by
male in company B?

53)h Ul A H Higdll gRT U $dl Bid bl Dyl B
J5Y GRI U &d Dl o did 3UTd JTd HIfTE?

1.2:1
2.3:1

3.4:1
4.5:1

5.1:1



Solution:

Total calls received by female in company A

= 6000 X -
LoQ

= 3900
Total calls received by male in company B

= 7500 X ——
100

=3900
3900

Required ratio = —
3900

=1:1

54)Total calls received in company F is 60 % more
than total calls received by female in company A. If
out of total calls received in company F, 75% calls
received by female, then find average number of
calls received by male in company F & D?
54)yh Ul F 8 Ul hidl, hu-il A T Afgal gRI
T ot it H 60% 3 g1 Al Hu-T F H v
$d Bid H Y, 75% Pid g3l gRT U Bl Sl
% A BT F 3R D YN gRI U Dl I 3¥d

I=T JTd DI |

1.2020

2.2060

3. 2040



4. 2080
5. 2100

Solution:

Total calls received in company F
= 6000 X — x 2% = 6240
100 100

Total calls received by male in company F
= 6240 X — = 1560

100
Total calls received by male in company D
= 8400 X — = 2520

100
1560+2520

Required average =
_ 4080

2
= 2040

55)Find total number of calls received by male in
company A, C & E together?

55)&HTHT A, C 3R E H fiae: 138 gRI U Hid
DI pd AT T DIfSIE?

1. 7940

2. 7930

3. 7910

4. 7980



5. 7950

Solution:

Total number of calls received by male in company A,C& E
= 6000 X —= + 7200 X — + 5400 X —
100 100 100
=2100+ 2880 + 2970
=7950

Number Series

Direction (56 to 60) : What should come in
place of the question mark (?) in the following
number series?

Direction (56 to 60)
FafafaagenyaamugfTe (?)
FRITURHTSTIET?
56) 50, 59, 84, 133, 254, ?

2)300

0)352



c)423
d)410
e)378

Solution:

Pattern of series

ﬁﬂ ?F ﬁ? 1ﬁ3 254 423

9 25 49 121 169

r1t 1 1t 1

3 5* 7° 11° 13°

57) 10, 8, 13, ?, 135, 669
a)30
b)32
c)35
d)38
e)40

Solution:

Pattern of series

10 8 13 135 669

x1-2 =x2-3 =3-4 =4-5 x5-b



58) 5, 10, 20, ?, 80, 160
a)30
b)35
c)45
d)40

e)None of these
NN N C o
QIHXIDN LGB!

Solution:

Pattern of series
5 10 20 [40] 80 160

l | | | Il |
x2 x2 2 x2 %2

59) 459, 457, 913, 911, 1821, ?
a2)3640
b)3641
c)1819

d)1817



e)1815

Solution:

Pattern of series

459 457 913 911 1821 |1819

x1-2 xd=1 3 B =2-1 x] -2

60) 19, 30, 43, 60, 85, ?
a)100
b)110
c)120
d)124
e)126

Solution:

Pattern of series

19 30 43 60 85 [126
| | I I f

11 13 17 25 41

I I | I |
2 4 8 16

Time and Work



Q.61P and Q together can complete a work in 24
days, while P takes 20 days more than Q to
complete the work alone. Find in how many days
50% of work can be completed by Q alone?

61) P 3R Q HamumHH®! 24

A RIPAD G, Sd(P P HHABARITRIGIAH Q
T 20 feasifimadre IFTddIfoEfb3ibd Q §RT 50%

N \e N\ o

FfB A GAH RGBT G TG ?

a)10 days/ 10 |

)20 days/ 20 |

c)15 days/ 15 |

T G R

d)30 days/ 30 |

e)40 days/ 40 fe

Solution:
Let Q alone can complete work in ‘d’ days

And P alone can complete work in ‘d+20" days
ATQ -

1 1 1
E+ d+20
2d+20 _ 1
d¥+20d 24
48d + 480 =d2 + 20d
d?- 28d —480 =0
d =40 days

Q alone can complete 100% work in = 40 days

24

S0, Q) alone can complete 50% work in = 40 x % = 20 davys



Simple interest

Q.62 Shivam invested his saving equally in two
schemes-A & B and both schemes offering Sl for 4
years. He gets interest Rs.7200 from scheme-A
and Rs.4800 from scheme-B respectively.
Scheme-A & B offers R% p.a. and (R-4)% p.a.
respectively. Find value of R.

62) RamsUsTddieraeTsfi-A 3R B
AU A RIfh a3 iR I 4

TR (TR TSI [URTH T IS A I
7200 SUYSIRASHI-B T 4800

ST TS ITSHT-A 3R B AT R%
gfaauaik (R-4)% UfdayueHedlis | R

HTHMRITIDIT |

2)8
b)15
c)12
d)6

e)14

Solution:
Let amount invested by Shivam in each of the



scheme —A & scheme —B be Rs. P.

ATOQ,
PxRx4

100

= 7200

PR = 180000 __(i)

And,
PriR—4)x4
100

= 4800
PR-4P=120000 __ (ii)
Put value of (i) in (ii):
180000 - 4P = 120000
4P = 60000

P =Rs. 15000

Put value of P in (i}:
15000 R =180000

R=12%
Probability

Q.63A box contains 5 red balls, 8 green balls and
10 pink balls. A ball is drawn at random from the
box. Find the probability that the ball drawn is
either red or green.

63) kd’)@lIOR-IJ-I 5 c1|c1‘|d 8 Eﬁﬁ%\%ﬁ? 10
IEIES N R L AIMEEARIEIRIE

o

Ir'\'IOI‘)IQ’H‘Is‘IC'g<JI‘>Q'1IQ'13~II‘CNQ‘IOI?E;I"IOI’>I&«III*«IGl‘J(‘IIQ‘II(‘IOI?II\leJ
|

a)13/23
0)10/23

c)11/23



d)13/529
e)12/23

Solution:
5 8 _13

Required Probability = —+ — = —
23 23 23

Problems on Ages

Q.64Ratio between age of Priya and Swati is 3 : 4.
If shikha is 6 year younger than Swati and average
age of all three is 31 years, then find Shikha’s
age?

64) TrATS IR ST BB 3:4
g [afeRrarafad 6 Ts IR I3ia3y 31
ave, RIS RTasIfT|




a)36 years/ 36 ay
b)32 years/ 32 ay
c)20 years/ 20 ay
d)24 years/ 24 ay

e)30 years/ 30 ay

Solution:
Let age of Priva and Swati be 3x and 4x respectively.
Age of Shikha = (4x - 6) years
ATQ,
3x+4x+4x—06
=31

3
11x=31=x3+6

_®_g

11
Age of shikha = (4 = 9-6] = 30 years

Percentage

Q.65 Marks scored by Sumit is 12.5% more than
Sahil's marks. Ajay got 6 %3% more marks then
Sumit’s. If difference between marks scored by
Ajay and Sabhil is 40, then find the total marks
scored by all three.

65) GRS AR AD DI 12.5%
TIPS | SSTIDIGHTY 6 24%

TIPS [l HTTHRAT G AGRIIT S [ BT3H




N« Wia U o\

3 40 g, A RIS A3 B ITaHh oS |

a)665
b)450
c)555
d)745
e)625

Solution:

Let Sahil's marks = 80x
80xx112.5 _

So, Sumit's marks = 90

100

9nxx1ﬂ5§
= O6x

So, Ajay's marks =
ATQ,

Ajay's marks is 40 more than the Sahil's marks

=96x - 80x = 40

=x=25

Total marks scored by all three = (80 + 90 + 96) = 2.5 =266% 2.5 =665

100

Caselet

Direction(66-70):Study the given passage
carefully and answer the questions.

fau 7T SraaRUT HT WY HTT B 3R
frafafad usi & SR |



In an office, there are 200 employees who
consume any product (Espresso, Cappuccino, and
Latte) of Nescafe. 25 employees consume
espresso & latte both while 15 consume espresso
& cappuccino both. 35 consume only latte. 95
employees consume espresso. 30 consume all 3
drinks. 100 employees consume exactly one drink.

Direction(66-70):Td HIATAT H, 200 HHART § ol
bk & fopd i I (TN, HUHHT 3R ofg) B
SUYNT B & | 25 FHART THA! 3R S Gl BT
g B § OdP 15 T 3R HUHHT Gl ol
I HRd g | 35 FPHAR] Had og BT Y- HRd g |
95 HHART THI! BT Ya- Hd g | 30 Gt 3 T &1

U9 HId &1 100 PHIR] Hdd b U BT a9 HId

gl

66)How many employees do drink exactly 2
drinks?

66)fPd FHIRT 2 UHR & UY BT AdH HId 872

1.75

2.100

3.70



4. 80

5. 65

Solution:

Employees who consume only espresso

=95 — (15 + 30 + 25) = 25

Employees who consume only cappuccino

=100 — (25 4 35) = 40

Employees who consume latte & cappuccino both
=200 — (25 + 15 + 40 4 25 + 30 + 35)

= 30

Espresso (95)

Cappucinno (115) Latte (120)

employees who drink exactly 2 drinks =154+ 254+ 30 =70

67)Employees consuming cappuccino are
approximately what percent of employees
consuming latte?

67)H Ul BT Ua- B ardd HHAR], e BT Ja-




B AT HHIATRAT BT T fha1 ufawrd 87
1. 92%
2. 98%
3. 94%
4. 96%
5. 99%

Solution:

Employees who consume only espresso

=95 — (15 + 30 + 25) = 25

Employees who consume only cappuccino

=100 — (25 + 35) = 40

Employees who consume latte & cappuccino both
=200 — (25 4 15 + 40 + 25 + 30 + 35)

= 30



Espresso (95)

30

Cappucinno (115) Latte (120)

Employees who consume cappucinne =40+30+30+15=115
Employees who consume latte=30+30+25+35=120

Required % = E X 100 = 95.83% ~ 9694

68)What is the ratio of employees consuming only
espresso to employees consuming cappuccino &
latte both?

68)had TR BT Jd- B Tl HHATNIT qUT
U 3R Tg TFI BT Ua- B I HHIATRA] Bl

31T fordHT 82

1.5:6

2.5:8

3. 34



4.6:5

5.85

Solution:

Employees who consume only espresso

=95 — (15 + 30 + 25) = 25

Employees who consume only cappuccino

=100 — (25 4 35) = 40

Employees who consume latte & cappuccino both
=200 — (25 + 15 + 40 4 25 + 30 + 35)

= 30

Espresso (95)

Cappucinno (115) Latte (120)

required ratio = 25:30 = 5:6

69)What is the total no. of employees that
consumes more than one drink?

69)Th I AHfUH UY BT a7 H3 el HHATI] i

T fohd-l 272




1.90

2.110

3. 80

4. 95

5.100

Solution:

Employees who consume only espresso

=95 — (15 + 30 + 25) = 25

Employees who consume only cappuccino

=100 — (25 4 35) = 40

Employees who consume latte & cappuccino both
=200 — (25 + 15 + 40 4 25 + 30 + 35)

= 30

Espresso (95)

Cappucinno (115) Latte (120)

required number of employee = 15+ 30 + 25+ 30 = 100



70)Average no. of employees consuming only
espresso & only latte are how much more/less
than average no. of employees consuming
cappuccino & latte both and all 3 drinks?

70)chdd TR 3R dhad dig BT STHIT HRA aTe]
HHATRYT P 3N TBAT, HUHAT 3R e gl 3R
g 3 U &1 Igq B aTdd HHATR] Dt GBI
frdT 3rfdrm/pH 8§72

1.2.5

2.0

3.5

4. 7.5

5. 10

Solution:

Employees who consume only espresso

=95 —(15+ 30+ 25) = 25

Employees who consume only cappuccino

=100 — (25 + 35) = 40

Employees who consume latte & cappuccino both
=200 — (25 4+ 15 + 40 + 25 + 30 + 35)

= 30



Espresso (95)

Cappucinno (115) Latte (120)

25+35 30430
o = {}

required answer =

Data Interpretation

Direction(71-75):Study the charts given below
carefully and answer the following questions.

Direction(?l-?S)Fﬂ%ﬁ'{f 'l'I'inITZ.F Gl WH'W
g o IR Frufafed ugl & sw S

Pie chart shows the percentage distribution of total
Spectators of a particular city loving different
sports as shown below.
@m%#ﬁmﬁaﬁﬁmw% 98 T fquIy
e P A GRP| P WA a0l B STl g Sl




fafirer Wl Y TE Hd B

Total Spectators = 14000

T

7 4

71)Total spectators of Badminton and kabaddi
together is what percentage of total spectators of
cricket and hockey together?

71)98fHe 3R Hag! B HATHR $d a2, fhde
3R gid! P! AR Hd a=idbl B fba-T ufard g2

1. 70%

2. (5%

3. 80%

4. 65%

5. 60%



Solution:

Total spectators of Badminton and kabaddi together
=14000x% —+ 14000x —
100 100

=3220+980
=4200
Total spectators of cricket and hockey together

= 14000% == + 14000% —
100

100
=3080+2520
=5600

: _ 4200
Required per‘centage—E—ﬁm % 100

=75%

72)Find the ratio of total spectators of Football and
tennis together to the total spectators of Cricket?

72)Feald 3R <Y & Hd aRP| aUT fehbe & P
ax(P! I U I BIfod?

1.17:12

2.11:15

3.15:11

4.12:17

5.13:18



Solution:

Total spectators of Football and tennis together
=14000% —= + 14000x ——
100 100
=2240+1960
=4200

Total spectators of Cricket = 14000 X % = 3080

. , 4200
Required ratio =———

3080
=15:11

73)Find the central angle of total spectators of
badminton and tennis together?

73)d8fHe 3R <MY & $d aiP| BT T IqTY
DI DI JTd PHITT?

1.79.2°

2.136.8°

3.115.2°

4.126°

5.133.2°

Solution:

central angle of total spectators of

badminton and tennis together

; 360
=(23+14)x —

=133.2°



74)Out of total hockey spectators, male and
female lovers are in the ratio 9: 6 respectively,
then find difference between male and female
spectators of hockey?

74)s|or>|$g>c1?{¥mﬁ@r 3R [T G I
3T HHRT: 9:6 B, <l Bldb! b JSY 3R Afgal
aRID! & S SR I DIToTL?

1.524

2.484
3. 336
4. 504
5.472

Solution:

Total male spectators of hockey =14000= % * %
=1512
Total female spectators of hockey =14000= % * %

=1008
Required difference=1512-1008
=504



75)Total spectators of cricket and football together
IS how much more/less than total spectators of
badminton and tennis together?

75)fhdbe 3R Fedld & $d Gd, JSfied 3R
g & oot et A fobam 2ifiprpH 82

1.160

2. 140
3. 180
4. 200
5. None of these

Solution:

Total spectators of cricket and football

together=14000% — + 14000 —
100 100

=3080+2240

=5320

Total spectators of badminton and tennis

together=14000% — + 14000% —
100 100

=3220+1960

=5180

Required difference=5320-5180 =140



Simplification and Approximation

Direction(76-80):What approximate value
should come in the place of question (?) mark
In following questions.

Direction(76-80): fAHfciad ush ¥ usifg (?) &

YT U QITHIT KT HIA AT Eﬂ'%Q?

76)

32.04 X 14.99 — 11.99 X 87.98 + (50.01)? =2
1. 2020

2.1924

3.1832

4. 2220

5. 1936

Solution:
?7=32x15-12x 88 +(50)*
= 480 — 1056 + 2500

= 1924



77)

7.99° X 2.99% + 11,982 +72 = 17.03?
1.14

2.19

3.1

4.8

5. 4

Solution:
8% x3*+12° 4+ (7): =177
4% 2% x3d a
U‘],W‘l—{?] = 289
or, 288 + (7)* = 289
or, (7)* =1
(7)F=17
or,7=1

78)

252.03 +519.99 + 19.93 + 420.06 = 121.09 + 7

1.587

2.577



3. 527
4. 477
5. 627

Solution:

252+ 26+420=121+7
=577

79)

124.99 04 of 85.99 + 43.02 % 32.03 + 7.99 =7x/24.97

1.8
2.18
3.5
4.2
5.12

Solution:

125 _ 86 _ 32
— X —xX—==7x5
100 a3 8

10 =7x5

7=12



80)

127.98 + 15.03 % of 7 = (4.99)3+ 29.99

1.160
2.220
3. 200
4. 180
5.196

Solution:

128+ — x7= 125 + 30
100

2 x7=155—128

100

L5 wr=127

100

7= %100
15

7=180
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